





(1)

(2)

(

)

(1)



worker
1

worker
1

worker
1


(2)

(1)



worker
2

worker
2

worker
2




worker
3

worker
3

worker
3




worker
4

worker
4

worker
4


20.0
19.0
18.0
17.0
16.0
15.0
14.0
13.0
12.0
110
10.0
9.0
8.0
7.0
6.0
5.0
4.0
3.0
20
1.0
0.0

——
—.—

48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63 1 2 3 4 5 6 7 8 9 1011 12 13 14



worker
5

worker
5

worker
5


45.7

36.1

26.3

21.8

16.7

16.7

14.0



worker
6

worker
6

worker
6


25  30)
15 20)
@]



worker
7


H12.10.17 H12.2.25 H12.10.2 H14.12.26 H11.6.14

H13.4.1 H12.4.1 H12.11.1 H15.1.15 H11.6.14
H13.3 H10.4 H10.10.31 H15.1 H11.6
16.71 11.3 9.88 19.18 12.46

16.82(H15.3) 11.85 10.09 19.21 12.66
H13.3 H10.4 H10.10.31 H15.1 H11.6
14.72 10.6 9.40 13.65 11.41
14.95 11.1 9.59 13.71 11.51



worker
8

worker
8




worker
9

worker
9

worker
9


O10% W 10-15% O015-20% 020%- ENA

O10% W10-15% [015-20% C120%- EINA

ook

W 10-15% [015-20% O20%- ENA

Oo%

W 10-15% [115-20% C120%- MNA

O1o% W10-15% O015-20% O20%- ENA

10



worker
10

worker
10

worker
10


O15% W 15%-20% C020%-25% O025%-

HENA

O15%

B 15%-20% D120%-25% D125%- ENA

Oy

W 15%-20% [120%-25% [125%- MNA

D15

W 15%-20% C120%-25% [025% WNA

Oask W 15%-20% 020%-25% O25%- ENA

11



worker
11

worker
11

worker
11


1965
40)

(

1966
41)

(

1967
42)

1968
43)

1969
44)

(

1970
45)

1971
46)

12



worker
12

worker
12

worker
12


(

1972
47)

(

1973
48)

(

1974
49)

(

1975
50)

%

(

1976
51)

(

1977
52)

13



worker
13

worker
13

worker
13


(

1978
53)

(

1979
54)

(

1980
55)

(

1981
56)

(

1982
57)

1983
58

(

1984
59)

(

1985
60)

(

1986
61)

(

1087
62)

(

1088
63)

14



worker
14

worker
14

worker
14


1989
1)

1990
2)

1991
3)

1992
4)

1993
5)

1994
6)

1995
7

1997
9)

15



worker
15

worker
15

worker
15


(

1998
10)

(

1999
11)

(

2000
12)

(

2001
13)

(

2002
14)

(

2003
15)

16



worker
16

worker
16

worker
16


- =
b = ol ] " 2 |
.:-'-"'\-\.\,:l' [ B L %Y L LA A |

- 2 i -I.;' L1
" —_:I-. wlp T mRRIE . 7.l 1 O En
W A 1=\

. i 4 L . rrem —— ===
e T - L g m i i
b g , g A r s S

= TETE VA o |
N i b
[ e T i 5 e
:

i
F 1
==
b

|

|

I

|

|

17


worker
17

worker
17

worker
17




worker
18

worker
18

worker
18


19


worker
19

worker
19

worker
19


20


worker
20

worker
20

worker
20


	無題



